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Al Questions Carry Equal Marks

l.a) & H ow doyeu identify the follpwing solution in graphical n;;;;thods‘? @y e
" 1) Infeasible solution _
ii) Unbounded solution - ~
,,,,,, b) A company wants to purchase at most 180 units of a product. There are two types of
et : "tihe prodﬁ&‘t, M, afid Mz available. Mr ﬁccuples DR, cost'Rs. 12/-8hd the cofmpany
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problem usmg snnplex methodv [5+10]

2 A 11'1p from Hyderabad to
Fi8ervices ititboth dll'GB‘:th

Hyderabad — Wa}‘t
Route No Denarty

: “6- hours by bus. A typlcal tlme table of b S

LAt

Roufe No: | Departure | Arrival
188 | 0380 B11:30  §F
2 09:00 15:00
3 15:00 21:00 : ,
4. 18:30 [ ,00:30 |
5 00: 00 06:00 | ’

¢e by the transport company depends upon the tune spent
&by the bucrew (drwer and cenductor) away fromitHeir placé§'in additioni to servi®d times. #%
There are five crews. There is a constraint that every crew should be provided with 4

hours of rest before return tr1p agam and should not wait for more than 24 hours for the
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3.a) Explain the algorithm for sequencing of 2 jobs to process on ‘n’ machines.
g b) #The following mortality rates have been found for g:oertain type of coal gutter motpt: I

Weeks 10 Jo0 30 [40  [50
Total%fallure upoend of 10 5 oo [15 ..J35  d65 100 | .

Agts :
s sy
£ ety Eyhn A

a:nd ifsoWhen, . o [5 +10] B




HE R B mE

4.a) Distinguish between the games with saddle pomts and without saddle points.

b) Solve the followmg game graphically. - [5+10]
B 5% i 4% PlayefB e g ER

5 3 - ' :
3 5
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5. In machme mamtenance a mechamc repalrs four machmes The mean time between

service requ1rements 1s 5 hours for eaeh machme and forms an exponentlal distribution.
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| Eper day ot 8 hours. * SES B B L
a) Find the expected number of operatmg machmes
b) Determine the expected down time cost per day. .

26} Would, it be sgponomical, to_mengage two, machmea ,,,, .each reggmng only two g
. machines. : . _ - 15 .
6.

-gany requires 3600 kg of raw materials for
has bééh estimated that théigost of placing an 2%
25% of investment an the inventories.

J“order is Rs 36 and the cOS.

The price is Rs. 10 per k er wishes to determme the operating
doct‘rine - J15]
b)  Use dynamic pryj
zMax Z =4x+3x; o B B
Subject to constraint ; %’Qém <3; X1+X2 > 0 and X1, X2, %3>0. [5+10]
: ddvantages of 51mulat10n‘?

arnval and next. __The average service time (t:_reatment) is assumed to be 28 min. smulate

the system tilt 11 am assuming to be starting from 9. 00 am immediately after the clinic is
15+10]
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